e L L L S B B 40T T T T 10 T T T T T
f e [ i i
ST LOISINBA /5‘”\'3‘\'&; Lok ] ]
s | obsd : 1 |
e SRS sty sofF ] 8 ]
o . ] r 1 J
= ] i ] ]
g 1 2er ] 1
« 5fF 1 I 1 6 e
N ] 20F ] ]
o ] r ]
o} . : ] ]
] 151 -
] [ ] 4 7
151 ; : ] |
4 1.0 7]
o) E N N B S B R B 05 P E N B L1 ] 2 . L L L .
0.0 0.2 0.4 0.6 0.8 1.0 0.5 1.0 1.5 2.0 2.5 3.0 5 10 15 20 25
phase ¢y H-K V—K
15.0[= T T T T
145/
=
3 40— """ T Tt —=
E 135; """""" o M A VR e f Y M A
13,0: L L
40[C ‘ ‘
v _E
£ 9
=2 —
e il \\ (LA AL I l \\ i
g o PTHRRE ) I T e
° C
o —20—
m —20
o —
-40 [ L L L L
1.0 T T T T |
o — -
2 08— -
v = -
T B =
c 06— —
.9 [ .
S =
2 04— —
[0 — —
s = =
§ 02— 4
00 ‘ ‘ ‘ - =
0 100 200 300 400
time [yr]
*8,67 T T T T T T T T T T T T T T ] SXWO”*‘ T T T T |
,54; @1 % 5 S 1 - : :
r 5 % %0.84 h oo ] i b
e w0 g S i 1 Tu 3000 K
w820 e 9 e [ ]
g L oo ° oo 00 o 1 lgL 5.85 Lg
£ [ o Palg i, 1o Lo r ]
¥ -sof e T mRel ® Lo k { Mass 1.00 Mg
N R T o [ B
—78F  leel 70l al o R I ] 1g(C-0) 8.20
i 02080 % L] i { C/0 1.35
el @8 lgiEiw ., B e e ] ok ‘ ‘ ‘ L] :
B B e e e A S e S e s 20 T T T T 3 Au 6 km/s
Ff e B e s e SN : p /
-7.0 q 2 0 . E|
El e P SR B 3 fy 1.0
I T3 Tk
ST 1 g e 3 clossopn
E -6.6[ S o %o oo Lo o 3 E El
. Eooo e R - BN 3
ﬁ764; loglooime ol e 3 ° E El
TP PgiaRigelenf EHEE R i No wind
L L 00 o [ . . ] o —20F =
6.2 oo . , oo, o X R £ 3
F g B e
—-6.0LC L L L L L L L L L L L L L L ] 73?3’ L L L L = Peﬁod 390 d = "068 y’r
4O T T T 50410 ; ; ; 3 Redius 318 Ry
35: 8 ] [ 1 logg -0.57
-351 8 o b F 1
5 L 159 1o n 1 MMy, 0.703
S g 1ex107r - o
— s0F a0 By 18 r 1
(=) e | | | 0 . | Hc L u .
Eob el 2 oo eI P L
— F B o, B o, 0,0 | 4 F 4 — . . . .
> -25F 1 ool algal, ! ¢ r 1 (V=) 241 221 256 0.36
E o lpelogiegl olto £ 1 (v-K) 540 489 569 0.80
aob iheimyie e 18 s r 1 (J-H) 087 077 094 017
of T 8.4 1 I 1 (U-K) 1.41 1.24 151 0.27
¥ 1 [ 1 [(H-K) 0.54 046 062 0.16
—150 1 . . . ] 0 . —
385 391 401 405 385 395 405
time [yr] time [yr]

5.83




Note: Time increases downwards. Scales OK for last curve (bottom black)
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